HYPERBOLA VISUAL
SUMMARY 2-
LINES OF SYMMETRY




GRAPHS - HYPERBOLA
X y=;+56mmum5UMB)

e ASYMPTOTE X =0 AND Y = 5
ASYMPTOTE x = O(Y-AXxIS) AND Y = O (X-AXIS) R Coordinates of where the

LINES OF SYMMETRY: lines of symmetry intersect

1. Y=x+5 are the values of the
152 Y=X

asymptotes:
2 = -X+5




GRAPHS = HYPERBOLA .
: y=;—5mmeOWN5UMB)

e ASYMPTOTE X = 0 AND Y =- 5
ASYMPTOTE x = O(Y-AXxIS) AND Y = O (X-AXIS) R Coordinates of where the

LINES OF SYMMETRY: lines of symmetry intersect

g3 Y=X -5 are the values of the
R .

asymptotes:
e e (0:-5)




GRAPHS - HYPERBOLA y=ﬁ (SHIFTS LEFT 5 UNITS)

ASYMPTOTEX=-5AND Y =0

2
e, LINES OF SYMMETRY:
ASYMPTOTE X = O(Y-AXIS) AND Y = O (X-AXIS) DS RARXAL
G SuB X=-5 AND Y=0 INTO Y=X+C TO GET C
LINES OF SYMMETRY: Coordinates of where the
1. y=Xx st e lines of symmetry intersect
5=C are the values of the
R % asymptotes:
Y=XE3 (-5:0)
. Y=-X +C

SUB X=-5 AND Y=0 INTC Y=-X+C TO GET C
(0) = -(-5)+C

-5 =C

Y=-X-5

V
; —




y = —— (SHIFTs RIGHT 5 UNITS)
GRAPHS - HYPERBOLA

ASYMPTOTEX=5AND Y =0

y)
o LINES OF SYMMETRY:
ASYMPTOTE x = O(Y-AXxIS) AND Y = O (X-AXIS) R Coordinates of where the
X SuB x=5 AND Y=0 INTO Y=X+C TO GET C lines of symmetry intersect
LINES OF SYMMETRY: (0) = (5)+¢ are the values of the
1. Y=X asymptotes:
5 R0 5 =C (5:0)
' Y=X-5
2. Y=-X+C

SUB X=5 AND Y=0 INTO Y=-X+C TO Gk C
(0) =-(5)+C

S=C

Y=-X+5




GRAPHS - HYPERBOLA

2
e,

ASYMPTOTE x = O(Y-AXxIS) AND Y = O (X-AXIS)
LINES OF SYMMETRY:
1.  Y=X

2. Y==X

y = ﬁ + 4 (SHIFTS UP 4 UNITS AND SHIFTS LEFT 5 UNITS)

ASYMPTOTEX =-5 AND Y = 4

LINES OF SYMMETRY:

1. Y=X+C
SUB X=-5 AND Y=4 INTO Y=X+C TO GET C
(4) = (-5)+C

9=C

Y=X+9

2. Y=-X +C

SUB X=-5 AND Y=4 INTO Y=-X+C TO GET T
(4) = -(-5)+c

-1 =C

Y=-X-1

Coordinates of where the
lines of symmetry intersect
are the values of the
asymptotes:

(-5:4)




GRAPHS - HYPERBOLA

2
e,

ASYMPTOTE x = O(Y-AXxIS) AND Y = O (X-AXIS)
LINES OF SYMMETRY:
1.  Y=X

2. Y==X

y = ﬁ + 4 (SHIFTS UP 4 UNITS AND SHIFTS RIGHT 5 UNITS)

ASYMPTOTE X = 5 AND Y = 4

LINES OF SYMMETRY:

1. Y=X+C
SUB X=5 AND Y=4 INTO Y=X+C TO GET C
(4) = (5)+C

-1=C

Y=X-1

2. Y=-X +C

SUB X=5 AND Y=4 INTO Y=-X+C TO GET C
(4) =-(5)+C

9=C

Y=-X+9

Coordinates of where the
lines of symmetry intersect
are the values of the
asymptotes:

(5:4)




GRAPHS - HYPERBOLA

2
e,

ASYMPTOTE x = O(Y-AXxIS) AND Y = O (X-AXIS)
LINES OF SYMMETRY:
1.  Y=X

2. Y==X

S ﬁ — 4 (SHIFTS DOWN 4 UNITS AND SHIFTS RIGHT 5 UNITS)

ASYMPTOTEX =5 AND Y = -4

LINES OF SYMMETRY:

1. Y=X+C
SUB X=5 AND Y=-4 INTO Y=X+C TO GET C
(-4) = (5)+¢

-9=C

Y=X-9

2. Y=-X +C

SUB X=5 AND Y=-4 INTO Y=-X+C TO GET C
(-4) = -(5)+c

1 =C

Y=-X+1

Coordinates of where the
lines of symmetry intersect
are the values of the
asymptotes:

(5:-4)




